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(B#) gERE T gEnE T
H:D) (ha. BEH%) (ERD (ha. BE%%)
£ES 35 ] HES 40 5
IKFE 050 ha KA 0.50 ha
BE E?g}g@ 350 ha E?%—lﬁ?ﬂ 350 ha
E%%’Zﬂﬁ %WJ 500 ha E?*é}%% 500 ha
=T PRAE 64 B AL 80 B
A A
me (lf/i_i?‘a'f%fj) 040 ha (IE/?TQT;“) 0.40 ha
=Y 1.00 ha /R 1.00 ha
TV TzZAED 050 ha | FvITZzAED 0.50 ha
RE N1 3 040 ha N3 040 ha
IKHE 050 ha IKFE 050 ha
FOEODY 0.20 ha FOEODY 0.20 ha
EH/\ND 230 ha EHND 230 ha
1T 0.30 ha AT 0.30 ha
mES 2FvIZAED 0.20 ha | ATV TZAED 0.30 ha
R 0.30 ha D 0.30 ha
¥3OH 0.10 ha V=Yl 0.10 ha
FTvITZAED 0.40 ha | FvITzAED 040 ha
N1 Y3 0.70 ha N1 3 1.00 ha
3R 0.20 ha /R 0.30 ha
1T 0.10 ha 1T 015 ha
IKFB 045 ha IKHE 045 ha




N1 Y3 1.20 ha N1 Y3 200 ha
AFTwvITZAED 0.50 ha | ZFvTITZAED 050 ha
e ESSRY 0.20 ha FXYUP 0.20 ha
Y, 0.60 ha TR 1.00 ha
IKFE 1.00 ha IKFE 1.00 ha
REs INSEITEEE 064 ha | INSEIEEE 064 ha
AFTwvITZAED 0.10 ha | 7Y TIZAED 025 ha
CIED 0.20 ha CIEZS 025 ha
1T 0.10 ha 1T 0.15 ha
IKFE 0.70 ha IKFE 0.80 ha

FEERET S FEE=ET S
(735\—) (v 0.34 ha (735\—5—7 034 ha

iR Nax 5y =
s (IJ\ZfL 126 ha (’J\*fL 1.26 ha
OBER HWVYEE 0.10 ha WAVAVE=E 0.10 ha
Hiz 025 ha HE 025 ha
- I3 2.00 ha i3 2.00 ha
IKFE 234 ha IKFE 234 ha
IKFE 150 ha IKFE 150 ha
e INU1Y3 1.00 ha INU1Y3 1.30 ha
L 3eed 0.20 ha = 0.20 ha
INU1Y3 0.00 ha INU1Y3 1.00 ha
_ ST A o S A o ha
B 2FvTRAES 0.20 ha | RFwTzAES 050 ha
EAD\A 1.00 ha EAD A 1.00 ha
IKFE 0.40 ha i 0.50 ha
AFTwvITZAED 0.10 ha | AT v TITZAED 0.15 ha
an (BAbA | 015 ha | Biba | 015 re
N1 3 025 ha INU Y3 0.30 ha
IKFE 0.66 ha IKHg 0.60 ha




ZiEc 1.30 ha ZiEc 1.30 ha
i N1 3 1.30 ha INU1 Y3 1.50 ha
2KFE 800 ha IKFE 800 ha
BIEFH 6.00 ha EIthPFH 7.00 ha
nE KiBES 200 ha KIBES 200 ha
KiBES 050 ha KIiBES 050 ha
nE (’El:ﬂ_gg’if) 0.31 ha éﬁfg’iﬁ) 0.36 ha
R4 | & R4 10 o
(EEH) (EES) -
HiE 1.00 ha HsE 1.00 ha
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Bt by 015 m | P53 015 ha
JOwv3lJ— 040 ha | J0Owv3dU— 040 ha
2K 150 ha IKHg 150 ha
- N1 3 1.00 ha N3 1.00 ha
ZIEC 220 ha ZIEC 220 ha
XFTvITZAED 0.70 ha | FvITzAED 0.80 ha
Gl (Eﬁﬂ_ﬁg’fﬁ) 037 ha Efg’iﬁ) 037 ha
i) (Eﬁﬂ_ﬁg’ ‘ff) 0.12 ha E”_ﬁg’ ‘f:“') 025 ha
2K 150 ha IKFE 150 ha
il 1T 0.30 ha 1T 0.30 ha
N1 Y3 1.00 ha N1 3 1.00 ha
1T 0.10 ha 1T 0.10 ha
IKHE 1.10 ha IKHE 1.10 ha
e = 1.00 ha = 1.00 ha
ol (li,@?g ’7]?25) 0.10 ha (Ii,@'ig ;’;ﬁ) 0.10 ha




1T 0.40 ha AT 0.40 ha

- JKFE(WCS) 020 ha | JK#E(WCS) 0.20 ha
HEES 15 5 SRS 30 %
IKFE 055 ha IKHE 055 ha

KFG(WCS) 0.81 ha KFE(WCS) 0.81 ha

IKFE 045 ha IK#E 045 ha

FES 6 ha HES 8 ha

RE [CAlC<L 0.19 ha [CAICL 0.19 ha
IKFE 042 ha IKHE 042 ha

ENL\L & 005 ha Iyl & 005 ha

AT 0.04 ha 1T 0.04 ha

N1 Y3 1.20 ha N1 Y3 200 ha

AFTwvTzZAED 050 ha | AFvIZAED 050 ha

FRXH 0.20 ha FXXYV 0.20 ha

=y, 0.60 ha /R 1.00 ha

IKHE 1.00 ha IKFE 1.00 ha
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